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// A set S of disjoint sets. S = {S1,S2, ...,Sn}
// Each Si is a set of nonnegative integers
// Initially S is empty.

public interface DistSets {

public void makeSet(int x);
// Pre: xis not in any of the sets Si
// Post: S = old(S) U {{x}}

public boolean equiv(int x, int y);
// Pre:xin Si, yin Sj
// Post: return true iffi ==j

public void joinSets(int x, int y);
// Pre:xin Si,yin Sj,i!=j

// Post: S = old(S) - Si - Sj U {Sij}
//  where Sij =Si U Sj

public boolean inASet(int x);
// Pre: nothing
// Post: return true iff x is in some Si

(MTIP1 40) 2 TORW
:N2T pwan’ nonmnn aoRwi



77N 1Hhon 70 7AD0N 11 1NN 4 TNV

. {{3,7} {12, 5, 2} {8}} KIT AXYNW M1 ,KNNTY
TANW” joinSets(7,5) WAV 7yD1 0K false IV 1NN equiv(3,5) NoYoiT
52PN makeSet(4) NX MWIY 571 DK {{3,7, 12,5, 2} {8}}  a¥nm

. {183, 7,12, 5,2} {8} {4}} 2¥xnn

I LWDIAT DMNAT 01905 NwaabaT M%wen X
;T 12K NYYA fIv1ap Nyes makeSet TpD e
,IN12P FIMIKD D™ 0™MAK W ORT 7pT1aY equiv NYIRW o
M¥13p "Nw 2rmY joinSets TTMPD o
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:PWINT NK NWNANNRW mX3T aponnb onmn:  aoxrwn qunm’

import java.util.*;
public class SimpleArrayDistSets implements DistSets{
protected int[] parent;
public SimpleArrayDistSets(int n) {
parent = new int[n];
Arrays.fill(parent,-1); // all elements of the array are given value -1

public void makeSet(int x) {
adjustArraySize(x); //the array parent is replaced by a larger

// one, if needed.
parent[x]=x;

public boolean equiv(int x, int y) {
return root(x) == root (y);

b

public void joinSets(int x, int y) {
)

public boolean inASet(int x) {

)
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// return the root of the tree to which the node with number n belongs

protected int root(int n) {

int cur = n;

while (parent[cur] != cur)

cur = parent[cur];

return cur;
¥
// If needed, replace parent by an array large enough, with same content.
protected void adjustArraySize(int n){

if (n >= parent.length){

)

¥
¥
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SW ¥12p MK KIT pwani YW (abstract state) LWHAT A¥AT A
S = {{3, 7} X717 .O0">5w X DMOW Sw (P IN) MY MYap
AP Sw owDT NYpNa DR M {12, 5, 2} {8}}

DMYY X1 AOW DINNAW mY¥pNY ,(abstraction function)
1M1 . LWDINT AvnT Sw 0MAK KT AOW Mo, apbnnmm
T NATYA NKT 21N95

S(this) = {S, So, ... Sn} such that ....
133 O'XIN 237 13 MY NPYPND WANWAD 1Y N

xin Siiff ....
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P2t YW (representation invariant) MY MNNWHA DX AT A

. inASet TINYIRWM joinSets TMPBIT :D'XAT DXMWIT NX1AND T

121 DNYTAAW joinSets NMWIW WD T

ININ NN MM ,pwint NX NwWnNnnnw Nhoi TIP'?I'ID 2Na% vy A

5 makeSet(x) YW OTpiT
// Pre: xis not in any of the sets Si && x < max_num ()

[N7W 737 80N TIMMNRY) NH0A TNYIRW KT max_num() W3
NATva 113N 5w o995 NINAn PPN AT OKT LMY Y1ap YD
YW AN RIN DR DAWS MY K 1D DX V1T ,KY OX 2
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ININ DX WM ,pwantT DX NWnnnw Noon mponm 25 yym 1
5 joinSets(x,y) YW OTpiT
// Pre: xin Si, yin Sj
Y171, X% OK ?7NA NATva 1o Sw 0v%%37 Neman pn I oRa
T OK) NXT 712190 SW AAKT 'R0 DX DMWY 7MY X 13 DX
(w1

. adjustArraySize (KY¥1"1 1'RKW) N Sw winma nX mbwn .0
NK Mwn K17 OKT 20WDINT A¥YRT DK Mwn 11 NWw OXT
WM avni

(MTIP1 30) 3 TORW

:NMIXAT J'ﬂP‘?l'IDTI mnna N

class F{}
class T extends F { }
class R extends F { }
:KAT TP YO

public static void main(String[] args) {
F f = new F(Q;
Rr =newR();
Tt = new T();

// assignment statement here
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MK 23021 OX TP A 110, MK MAWTT whrm X 3 135
A 117Y 13 OK) 17¥Y21811p NRBW 797N @ main-2 YT DY Dipna
,(F1270 FI1IRM 1Y 13 OK) 7D XOW 3™ 5232 MV NN (ARDWT

.D3N77M2 DX 1Al PPN YA P Mpnw X

1. f=r1
PPN MPIT / (FTAY0FT 1) Y™ [Ara DN / (29n) mY9nmp nRHw

2. r=t;
JPN Mpa / (TA07 7N) 17X 1012 abwvn / (271 ) TT’Y‘?’E!TMP NRLWw

3. r=(Dt;
JpD Mpia / (7200 7)) OX™M 12 apwn / (?7r) ﬂ’l"?’BD\P DNXDw

4. r=R)f;
TN Mpn / (12017 ) X" (112 a9wvn / (?7r) ﬂ’l"?’BD\P NXMWw

5. f=(F)r;
PN NPT / (A0 1T1) 7Y™ A1 79N / (27717) MY2mmip NRDw

Hahieabn mp‘mnn NNl A
public class Test1 {
public float aMethod(float a, float b) throws IOException{...}

}

public class Test2 extends Test1 {
// code here

}



77N 1Hhon T AD0N 11 1NN 9 TNy

DIpR2 M [N71 OXT 130 0K DINTWT NYAIRA TAX 9 M2y
MWW T NR 0T NTW OKT 13 0K, Test2 -2 TV Nw
JTIX¥P2 1PNl . (overload) TTONYIT XYY KW X (override)

1. float aMethod(float a, float b) {...}
E7aln XS Nw 7 oMmyn NMwE /7 0T MO

2. public int aMethod(int a, int b) throws Exception {...}
E7aln XD NWw 7 oMy NMwE /7 0T MO

3. public float aMethod(float a, float b) throws Exception {...}
E7aln x5 nmwn / 0MYynNn MW / 0T NNwi

4. public float aMethod(float p, float q) {...}
7aln x5 i / 0MYyn MW / 0T NNwit

(INAN TTP‘?I'HGTT 11N .

public class Foo {
public static void main(String[] args) {
StringBuffer s1 = new StringBuffer("tea");
StringBuffer s2 = new StringBuffer("tea");
bar(s1, s2);
System.out.println("s1is " + s1 + "\ns2is " + s2);

¥

public static void bar(StringBuffer t1, StringBuffer t2) {
t2.append("'r");;
t1=1t2;
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(7270 IR 1Y 13 0X) 5870 X5w a0 5531 myn monm (axmwi
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M) T"PN TP / (TR0 717) 7Y™ A1 7N / (27n) mvIemp KDY
(LoD

;TINAM ARPIT N

public class Foo {
public static void main(String[] args) {
String[] str = new String[2];
int[] 1 = new int[2];
aMethod(str); //line1
bMethod(i); //line2

¥

public static void aMethod(Object[] o) {
System.out.print("in aMethod");
b

public static void bMethod(long[] 1) {
System.out.println(" in bMethod");
by

Snkaleingi ,N‘? IX 7121 X717 OKIT 12MY DIXQT DMNYI0T NYAIXND TNX 595
Y™ Ny "in aMethod in bMethod" OB .1

iT¥"™ Ny2 ClassCastException XM pArm .2

line 1-2 TT"Y‘?’BDM? DXUWw mw? .3
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line2 -2 TT"Y‘?’BDM? DKUY mw 4

SINAM TIP‘?I'IDTI 1N .n

public class Foo {
static class Foolnner {private int i=2;}
static FooInner inner = new FooInner();
public static void main(String[] args) {
Foo[] foos = new Foo [2];
for (inti =0 ;i < foos.length ; i++)
foos [i] = new Foo();
foos[o].inner.i = 3;
System.out.println(foos[o].inner.i + "," + foos [1].inner.i);

A 1IMY 13 OX) Y7IDRIp NKMW 7N (N33 NMWHRT NX 1100
(7270 IR 1Y 13 0X) 5870 X5w a0 5531 myn monm (R
TI¥P PN L(0DTIW VOB T L1 OX) PN TMYA Y1 Mphw X
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(LoD




